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Topic:- ACEE MPHIL 52
1) Which of the following is not a form of measurement validity?

foraaifér3ae 3 21 @iot 21l ama deren @1 v 4 ordl B

[Question ID = 6927]

1. Concurrent validity / smwwdt deen [Option 1D = 27702]
2. Face validity / @1 derm [Option 1D = 27703]

3. Conductive validity / ymradbier deren [Option 1D = 27704]
4, Convergent validity / aféifés uen [Option 1D = 27705]

Correct Answer :-
e Conductive validity / ymabta deen [Option ID = 27704]

2) A Simple random sample is one in which:

uas HIEnvT Arefesas oidgen a8 & Brad:

[Question ID = 6928]

1. From a random starting point, every unit from the sampling frame is selected / aefews ypfies g 31, auon © #1131 gedd Uedl SR ©1 TR [ S 2
[Option ID = 27706]

2. A non-portability strategy is used, making the results difficult to generalize / wor Si>uidfafert suelift @1 suier B smen &, B aivms o Amwmee geisn
#fdeer & smen & [Option ID = 27707]

3. The researcher has a certain quota of respondents to fill for various social groups / st @ urer ffdioar snenfare el @ fém srearnal o v forfdin ol
& [Option ID = 27708]

4, Every unit of the population has an equal chance of being selected / Smrsizen & g saus 3 gefort glor &t swmat sismaan & [Option 1D = 27709]

Correct Answer ;-

e Every unit of the population has an equal chance of being selected / Gorizen &1 ydias soois 3 aafor 81 &1 sna sisgan & [Option ID = 27709]

3) Aresearcher is interested in studying the prospects of a particular political party in an urban area, what tool should he
prefer for the study

e ofleranl v 9153 2l A fipedt Ao aswiifies urdt & Jvmasinail @1 twrier @ # S waar &, 331 ewRe @ e wior A1 JumT U
ol Tifge

[Question ID = 6929]

1. Rating Scale / 3 zaser [Option ID = 27710]

2. Interview / angmeast2 [Option 1D = 27711]

3. Questionnaire / ywmacdt [Option 1D = 27712]
4. Schedule / amspedt [Option ID = 27713]

Correct Answer :-
& Questionnaire / geameedt [Option ID = 27712]

4) A researcher divides his population into certain groups and fixes the size of the sample from each group. It is called

wep oferasal Aushl mardl ol on FgEl A el o 2 iz ydo age @ odel @ AR @ Broraa 2 a8 osl s 8

[Question ID = 6930]
1. Stratified sample / sl sweon

[Option ID = 27714]
2. Quota Sample / @er s

[Option ID = 27715]
3. Cluster Sample / aeees san

[Option ID = 27716]
4. All of these / it e

[Option ID = 27717
Correct Answer :-
e Quota Sample / @wier s
[Option ID = 27715]

5) Which of the following is a non-probability sample?

foraifert3an 3 21 @lor a1 Fi7- TR BT IIEN &7
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[Question ID = 6931]
1. A) Quota sample / A, @ler aen

[Option ID = 27718]
2. B) Simple random sample / B. a1 Ao swgpl

[Option ID = 27719]
3. Q) Purposive sample / C. 38gequf aragorn

[Option ID = 27720]
4. D) (A) and (C) both / (u) s (i) Sl

[Option ID = 27721]

Correct Answer :-
e D) (A) and (C) both [/ () afiz (20) Srail

[Option ID = 27721]

6) What is sociometry?

samsitifer azm 37

[Question ID = 6932]
1. Sociometry is social formation / IwGihe menfEeEs e 8

[Option ID = 27722]
2. Sociometry is technique for describing the social relationship among Individuals in a group / st v s9E # safered o dta swmfse S o avfe ot
o e reelts &

[Option ID = 27723]
3. It is a community formation / =& vas aREIRRED a6 &

[Option ID = 27724]
4, None of these / soi 31 aiid oft ardl

[Option ID = 27725]

Correct Answer :-
® Sociometry is technique for describing the social relationship among Individuals in a group / seuaiEtde vr FwgE 3 safcpadl o dia apnlses S o avfa o
@ e el &

[Option ID = 27723]

7) Exploratory research studies are also termed as formative research studies. Tick the correct choice

wsguf oner sreRrel @l sitaanfyas oner siezrmer oit wer sien & J8 Rveu uz Ras a5l

[Question ID = 6933]
1. It is correct / =z 3t &

[Option ID = 27726]
2. Itisincorrect / s arwr &

[Option ID = 27727]
3. It is neither correct nor in correct / =z of &t w8 & otz o & aft 2

[Option ID = 27728)]
4, None of these / ol 31 g ol ordf

[Option ID = 27729]

Correct Answer :-
® |tis correct / @ it &
[Option ID = 27726]
8) The measurements of sampling errors are usually called the precision of the sampling plan. Do you agree with this
statement? Answer the correct choice.

olgollp2uT Ife=il i AT @l Al U2 oldell Alsioll dl FCTadr sl SIel & AT 31U 53 Dol A AsHA &7 sl fdepeu 1 saE

[Question ID = 6934]

1. Do not agree / @t #i & [Option 1D = 27730]

2. Partially agree / anfdrs = 31 iz & [Option ID = 27731]
3. Completely agree / gt s 31 zn & [Option 1D = 27732]
4. Can’'t say / ol g 2rwa [Option ID = 27733]

Correct Answer :-
e Completely agree / gt mea 3t smernt & [Option ID = 27732]
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9) In a two dimensional diagram




o of et R &

[Question ID = 6935]

Only height is considered / @am Hand swon sien & [Option |D = 27734]

Only width is considered / dvaer dis uz Aoz f@sen sran & [Option ID = 27735])

Height width and thickness are considered / 3ar disi Jfi #iler @ e feen soen & [Option 1D = 27736]
Both height and width are considered / 3 afiz disr cloil Wl st & [Option ID = 27737]

o bt P —

Correct Answer :-
® Both height and width are considered / 3ard iz disr cloit smelt st & [Option ID = 27737]

10) If Nuddle food Ltd. Knows that the market share in north India has dropped by 8 percent in the first quarter of the
year, but does not know what might have contributed to this decline it is in which stage of the marketing research process

afe opsal w3 feifdies sroran 2 fp asme &l ReAerdl saz wrza 3 ara & usddl frandl A 8 gferera o 81 o1 8, Afdvor @1E oidl uan 2 [ 31 Prarae

& 1T AeIeiel 31 Awdl & a6 fauvTel efzienst gidszn o e azor 3 &
[Question ID = 6936]

1. Hypotheses development / amdtia e [Option 1D = 27738]

2. Symptom identification / c1emn ugamm [Option 1D = 27739]

3. Data Interpretation / 3er1 seafieom [Option 1D = 27740]

4. Problem identification / s @I usamer [Option 1D = 27741]

Correct Answer :-
e Symptom identification / @igmr ugarer [Option ID = 27739]

11) The distribution formed of all possible values of a statistics is called ................

st @ h Fnfda w31 9ot faaeer @ @ar s & ------
[Question ID = 6937]

Actual distribution / arrafaes oo [Option 1D = 27742)
Sampling distribution / s oz [Option 1D = 27743]
Inventory distribution / sodedt Feo [Option |D = 27744]

None / @1 aidf [Option ID = 27745]

ket P —

Correct Answer :-
e Sampling distribution / smpen fdazor [Option 1D = 27743]

12) If a respondent is asked to compare the comfort ability in driving between Tata Sumo and Toyota. It is known as the

following

ves gferardl @ erer Pl iz e @ dia gsidien i s & graran & qoen oo & e oel sian 2 52 leaifalRaa @ wa 3 smen s 2

[Question ID = 6938]

1. Conjoint analysis / weariise fraum [Option ID = 27746]

2. Staggered comparison test / ¥ geen udtemr [Option 1D = 27747)

3. Paired comparison test / %= geton udtemn [Option 1D = 27748]

4, Itemized comparative test / amsca qetemcas udtgion [Option ID = 27749

Correct Answer :-
® Paired comparison test / e geren udtemn [Option 1D = 27748]

13) Which of the following is the first step in starting the research process?

iol¥enme] gfdpanm 913 @wIol A usell avl wiol AT &7

[Question ID = 6939]

1. Searching sources of information to locate problem / s o umn = o e Jyaen @ 2wl & witer osen [Option 1D = 27750]
2. Survey of related literature / affnr snfae @1 sdam [Option 1D = 27751]

3. Identification of problem / smn @5t ugara [Option 1D = 27752]

4, Searching to the solution of problem / smzen o ssmma &t xita wzen [Option 1D = 27753]

Correct Answer :-
e |dentification of problem / smeen &t ugara [Option 1D = 27752]

14) Action Research means?

warorel Feared as waea?
[Question ID = 6940]
1. A longitudinal Research / v am(ded smpiems [Option |D = 27754]

2. An applied Research / o amyerr s [Option 1D = 27755]
3. A research initiated to show an immediate problem / v armifers s Gxmet @ féw g foen sk v gier [Option 1D = 27756)

4, A research with socio economic objective / smmfrs anflas 38ger o smer v gier [Option 1D = 27757

Correct Answer :-
e A research initiated to show an immediate problem / oy arostfes Fen Bame! o Br g fwn sen oo gier [Option 1D = 27756]
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15) A reasoning where we start with certain particular statements and conclude with a universal statement is called

s (e Siel A s [A9 werell A 9F as¥d & 3iie v Ardifdras aseror @ anen foreasd foresterd &

[Question ID = 6941]

1. Deductive Reasoning / sfrea d&fsir [Option 1D = 27758]

2. Inductive Reasoning / smmmnems @ [Option ID = 27759]

3. Abnormal Reasoning / a1 a [Option 1D = 27760]

4. Transcendental Reasoning / gsifea dwfemr [Option 1D = 27761]

Correct Answer ;-
® |nductive Reasoning / ammmmesd mab [Option 1D = 27759]

16) A research paper is brief Report of research work based on

U OfE Uej @ e Uz gner orf &bt Fifdra Bard 8

[Question ID = 6942]
1. Primary data only / @eer quefdes 3¢

[Option ID = 27762]
2. Secondary data only / smeefins 31 diaer

[Option ID = 27763]
3. Both Primary and secondary data / grefins ity amestfines 3e1 St

[Option ID = 27764]
4, Mone of these / sorfi 31 ot oft ordf

[Option ID = 27765]

Correct Answer :-
e Both Primary and secondary data / grefins aits amestfines 3e1 St
[Option ID = 27764]

17) How do define Information?

Iedolt @ @A ufysnftia asa &7

[Question ID = 6943]
1. Organized data / F=ifda 3et

[Option ID = 27766]
2. Raw data / avear 3er

[Option ID = 27767]
3. Input data / zeige 3e1

[Option ID = 27768)]
4, None of these / s 31 eoid o) wdi

[Option ID = 27769]

Correct Answer :-
e Organized data / H=ifdwT et

[Option ID = 27766]

18) How you will define a questionnaire?

AU Ues gealrdaell @l &1 uldsnfta aian?

[Question ID = 6944]

1. Research Method / ampener ffer [Option ID = 27770]

2. Measurement Technique / s msitas [Option 1D = 27771]

3. Tool for data collection / 3e1 2ss @ fém swasaur [Option 1D = 27772]
4, Data Analysis Technique / 3e1 faeduur araveftas [Option ID = 27773]

Correct Answer :-
® Tool for data collection / a1 sies @ m2 3uesau [Option 1D = 27772]

19) Which of the following is not the graphic representation?

foraifeifaa 3 21 woiar apfibas a1 gfifeiferea oidt &7
[Question ID = 6945]

1. Pie chart / a=dtz ard [Option 1D = 27774]

2. Bar chart / aw @ [Option ID = 27775]

3. Table / 2aer [Option ID = 27776]

4, Histogram / f&scsma [Option ID = 27777]
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Correct Answer ;-
e Table / &aa [Option |ID = 27776]

20) Good Research is always-

3rcesT ofler s39m &lan &-

[Question ID = 6946]
1. Slow / iom

[Option ID = 27778]
2. Fast / ot

[Option ID = 27779]
3. Marrow / siebiof

[Option ID = 27780]
4, Systematic / wrafiem

[Option ID = 27781]

Correct Answer :-
e Systematic / =mfFem

[Option ID = 27781]

21) Doubt is often better than -

HeE HaAT A6aT BN 8 -

[Question ID = 6947]

1. Belief / mum 31 [Option ID = 27782]

2. Value / =13 [Option 1D = 27783]

3. Confidence / Rmarer 3t [Option ID = 27784]

4. Over confidence / aifér ameafaeenar 31 [Option ID = 27785]

Correct Answer :-
e QOver confidence / aifér amewfaeeanar 31 [Option ID = 27785]

22) Which of the following is an example of primary data?

forsaiferiBaa & 31 @iar grafhas 3er an vas s &7
[Question ID = 6948]

1. Book / fsema [Option ID = 27786]

2. Journal / swler [Option ID = 27787]

3. News paper / zmmanz wj [Option 1D = 27788]

4. Census Report / soewen fid [Option ID = 27789

Correct Answer ;-
® News paper / smmae uef [Option 1D = 27788]

w1z # Ao frsmer siofzienor @i aga & ------ A5
[Question ID = 6949]

1. Secular / Jergerz [Option 1D = 27790]

2. Totalitarian / sifémmersadt [Option ID = 27791]

3. Democratic / s Ras[Option 1D = 27792]

4, Welfare / awe=mm [Option ID = 27793]

Correct Answer :-
o Welfare / weemmn [Option 1D = 27793]

[Question ID = 6950]

1. Abstract / s [Option 1D = 27794]

2. Dependent / anfdfa [Option ID = 27795]
3. Independent / wadq [Option 1D = 27796]
4, Separate / s [Option 1D = 27797]

Correct Answer ;-
® |ndependent / e [Option 1D = 27796]

collegedunia:

India’s largest Student Review Platform

25) Hypothesis must have ---




[Question ID = 6951]

1. Applicability / geiizeren [Option 1D = 27798]
2. Durability / fasuar [Option 1D = 27799)]
3. Testability / 2sefafert [Option ID = 27800]
4. Measurement / amu [Option 1D = 27801]

Correct Answer :-
e Testability / 2zcfafert [Option ID = 27800]

26) Who of the following makes a distinction between liberal constitutionalism and Democratic disorder?

forsaterRaa 3 21 @i serardt Adenferasar aiiz ciwaqifie iR @ & e wearn 87
[Question ID = 6952]

1. Francis Fukayama / wif3rs wegensn [Option 1D = 27802]

2. Theda Skocpol / =1 @i [Option ID = 27803]

3. B.F. Skinner / dtuw. Basarz [Option |D = 27804]

4. Farid Zakaria / wi¥e semfen [Option D = 27805]

Correct Answer :-
® Theda Skocpol / &=t F5nde [Option 1D = 27803]

27) Who has applied the theory of feudalism for the chola state

fpao1 dia wsa @ fow amiaae @ Rigia o aep e
[Question ID = 6953]

1. R. C. Majundar / anz. 3fi. #swer [Option ID = 27806]

2. Burtion Stein / afdiei ¢ [Option ID = 27807]

3. R. N. Nandi / a2, vai, sidl [Option 1D = 27808]

4. A. Southal / v smzener [Option 1D = 27809]

Correct Answer :-
e R. N. Nandi / sz war =ict [Option ID = 27808]

28) Sustainable development goals have

e e @ aga &

[Question ID = 6954]

1. 8 goals / 8 aiter [Option ID = 27810]
2. 20 goals / 20 aier [Option ID = 27811]
3. 17 goals / 17 siwex [Option ID = 27812]
4, 10 goals / 10 aier [Option 1D = 27813]

Correct Answer :-
@ 17 goals / 17 aim [Option ID = 27812]

29) The 'Stand up India Scheme' which promote entrepreneurship and it works for

'7¢3 A =3 Alsten’ &1 Jeifdn o) aerar Sl 2 sz orf @i B

[Question ID = 6955]

College students & management institutions / safdeamrter fenell oa gawua sinena [Option |D = 27814]
Minority & Tribes / arcusizeny sfiz aufdarstt [Option 1D = 27815]

SC-ST & Women / varaft-vardt siie sfdemd [Option 1D = 27816]

Young entrepreneurs & engineering graduate / gan 3zl sfi sSiifértisr somawm [Option ID = 27817]

da b R =

Correct Answer :-
e SC-ST & Women / vaisfi-uaét afiz sifgems [Option 1D = 27816]

30) Which one of these are incorrect about total Literacy campaign

argul Fngrran sfirner & an A gordl A @it w1 s1era 3

[Question ID = 6956]
1. It started in Ernakulum district of Kerala / =z @e1 o wetfazem B 3 9i% zan [Option ID = 27818]
2. The whole district was made literate between January 1989 to February 1990 / 3 f5ic1 @t Grarardt 1989 3 waadt 1990 o dia anere gerren sren en [Option ID

= 27819]
3. The main elements of total Literacy campaign as area based, time bound, cost effective, outcome oriented & volunteer based / qier sngreen afirema o©

et dea SI3 ate anentda, swereag, eerd gudl, afdvns e iz saedas anenfa [Option ID = 27820]
4. All above are incorrect / 3udies 2l arerer & [Option 1D = 27821]

Correct Answer :-
e All above are incorrect / 3udies 2l arerer & [Option 1D = 27821]

31) Match List | with List Il (Book/Theory proposed/Characteristic, etc.) (Author/Thinker/Name of Th .
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forsoifeilaa o Braa  @ls: -

List I List IT

1. National policy on education / i siifer farzm a. 1988

2. Plan of action / @rkismn b. 2001-02
3. Sarva Shiksha Abhiyaan / =d faren afirme ic. 1986

4. National Literacy Mission / wedla sngen Bigia L:l 1992

Choose the correct answer from the options given below:

[Question ID = 6957]
1. 1-a,2-b,3-¢c,4-d

[Option ID = 27822]
2.1-d2-¢,3-b4-a

[Option ID = 27823]
3.1-¢,2-d,3-a,4-b

[Option ID = 27824)]
4, 1-¢,2-d,3-b,4-a

[Option ID = 27825]
Correct Answer ;-
e 1-¢c,2-d,3-b,4-2a
[Option ID = 27825]

32) Consider the following statements and identify incorrect.

rrcifeiBan weell uz Rar o3 iz sraa & usae o3

[Question ID = 6958]

1. Adult Education impact on thinking and awareness / Jia iz SmeEmar W aee {9 o gama [Option 1D = 27826

2. Adult education can impact on economic activities / e fgn anféfas sifefafére uw guma s sedt & [Option ID = 27827]

3. Adult education can also impact on social environment / g fosn smafaas aomaeor w2 sft gana ser Jaxdt & [Option |D = 27828]

4, Adult education cannot be helpful to upgradation of functionality / aselemon o oo @ P g f9un Jare @8 & Fash & [Option 1D = 27829]

Correct Answer :-
® Adult education cannot be helpful to upgradation of functionality / aelgmm o oo o P g Bign Jerrs @idf & st & [Option 1D = 27829]

33) With reference to Compressed Natural Gas (CNG), consider that following statements:
1. It is a mixture of hydrocarbons consisting of approximately 80 to 90 percent methane in gaseous form.
2. It is lead-free and lighter than air.

Which of the statements given above is/are correct?

AdifFa grosferes 3ian (CNG) o e d, foaifeRaa el oz frar @3 1. a6 izl wu 3 asmer 80 3 90 yfeera Mder 3 I sslarda as
froqur &

2. u1s g @& geren 3 I HEa i sowr drem
Huz v a0 weEl 3 A Biar A1 7E B/E?

[Question ID = 6959]
1. 1only / 1 only

[Option ID = 27830]
2. 2only / 2 only

[Option ID = 27831]
3. Both1and 2 / Both 1 and 2

[Option ID = 27832]
4, Neither 1 nor 2 / Neither 1 nor 2

[Option ID = 27833]
Correct Answer :-
e Both1and2 / Both1and?2

[Option ID = 27832]

34) Consider the following statements:
1.Richter scale is used for measuring the intensity of Earthquake.
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2.Mercalli scale is used for measuring the magnitude of earthquake.
3.The range of intensity scale is from 1-10.

Which of the statement given above is/are correct?

forsaiferiaa wermeit ur e 3

1. freres yaba @1 seaaATa ywu &t digar arast @ fero = snen &

2. you @ ufywT @ Ausl @ 1o sl s @1 Juziler R suar 3
3. figmsda bt M 1-10 a2

Huz & srn wiel 71 werer Wt 3/87

[Question ID = 6960]
1. 1and 2 only / aaer 1 aiiz 2

[Option ID = 27834]
2. 3only / ovaer 3

[Option ID = 27835]
3.1,2and3 /1,203

[Option ID = 27836]
4. MNone / w3 artt

[Option ID = 27837]
Correct Answer :-
® MNone / &8 ol

[Option ID = 27837]

35) Which among the following statements best describes the term ‘Black Gold':

orrefeiRaa 3 31 @ofer 211 ®ee '&d@ 3lics' 966 I Ad! ITOT avlel BIAT 6.

[Question ID = 6961]

1. Coal and its derivatives / @rren aftz 3xas 2f¥aféa [Option ID = 27838]

2. Green Diamond / sfta srwiz [Option 1D = 27839]

3. Residual that remain after Gold extraction / i o5 freRft 3ua amfdee [Option 1D = 27840]
4. Petroleum and its derivatives / t@itrm sfiz 3o 20Afa [Option ID = 27841]

Correct Answer :-
e Petroleum and its derivatives / tEiferm aftz 3o 2R@kza [Option 1D = 27841]

36) Consider the following statements:
1.The Strait of Hormuz is a strait between the Persian Gulf and the Gulf of Oman

2. Dardanelles Strait connects the Black Sea to the Sea of Marmara.

3. The Bosporus Strait connects the Aegean sea to the sea of Marmara
Which of the statements given above is/are correct?

foreer @oerall uz AR @«
1.5mE 3¢ WRORTE 317 316 3G AEIe @ dda 2

2. gt 3¢ ool 2l iz 2 ame AR @l Sisa @
3. arua w2 ofbre dl o) aane # o) sisan 8

Hu? &= sren @il 31 @t 38t 8/87

[Question ID = 6962]
1. 1and 3 only / @@ 1 afiz 2

[Option ID = 27842
2. 2 and 3 only / @aa 2 3tz 3

[Option ID = 27843]
3.1,2and3 /1,233

[Option ID = 27844
4, 1only /1o

[Option ID = 27845]

Correct Answer :-
e 1only /1o
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[Option ID = 27845]

37) Consider the following statements
1. River Amazon drains into the Pacific Ocean

2. St. Louis is located at the confluence of the River Mississippi and the River Missouri.

3. The Grand Igna Dam is a proposed hydroelectric dam on the Congo River.

Which of the statements given above is/are correct?

forrafeiRaa weEl uz dar ©f

ATl ofGl yoriel AR A Siedl & e gsa Hffdl siiz Beddl ol @ dom ur Raa & ais geon aitr wion oidl uz vas yranfda geifdsiedl aier
2

Uz f2u a1 werell 3 A @iar a1 18 3

[Question ID = 6963]
1. 1and 2 only / o5ae ¢ 37 2

[Option ID = 27846)
2. 2and 3 only / 2 afle 3 &

[Option ID = 27847]
3. 1and 3 only / ¢ sfiz 3 &

[Option ID = 27848]
4, 1,2and3/ g, 2333

[Option ID = 27849]

Correct Answer :-
o 2and 3 only / 2 afiz 3 &

[Option ID = 27847]

38) Who among the following were members of the drafting committee of the Constituent Assembly?

1. B. R. Ambedkar
2. N. Gopalaswami
3. K. M. Munshi

4. B. N. Rau

Select the correct answer using the code given below:

forgaiferfiaa af 31 wial sifdemoer s & wwdier afdfar @ acsa a7

1. &1 3z, apas®?

2. ual. shurcrast

3. @. . giofht

4. 4. vel. aH

il 2w a19 ®Is ®1 JueneT & WEl Iaz gol:

[Question ID = 6964]
1. 1and 2 only / a5aer 1 3tz 2

[Option ID = 27850]
2. 1,2and3 /1, 2 43

[Option ID = 27851]
3. 3and 4 only / 3 afiz 4 &

[Option ID = 27852]
4, 1,2,3and4 /1,2, 3324

[Option ID = 27853]
Correct Answer :-
o 1,2and3 /1,243

[Option ID = 27851]

39) The Indian federalism can be best explained in terms of:

HMIFCIRT TG W a3 ITH 3D I HAHSIRI ST ol &

[Question ID = 6965]
1. An agreement between the center and constituent units in order to set up a federation. / areel & s &1 Zenuan o féne abg afte

_— .
collegedunia:

India’s largest Student Review Platform



FHarsiten

[Option ID = 27854]
2. Dependence of state government on the Centre for all funds, functions and functionaries / maft fafeel, mrdt it orfad © Po @g © Jo JTeeR 6
forafzrm

[Option ID = 27855]
3. Constitutional devolution of powers to the state governments / arsa 22wl @) eftpel a1 sdmfers g

[Option ID = 27856]
4. Extraordinary powers with center to unilaterally change the federal principles of the constitution / iftrema @5t Jicler Brpidt @1 vasaam Fa 3 gaolal © fn
g, O W SRR siferw

[Option ID = 27857]
Correct Answer :-
# Constitutional devolution of powers to the state governments / iwer Jrzasdl @) gifeme a1 sdeniores foigiur

[Option ID = 27856]

40) With reference to the Economic Census of India 2019, consider the following statements:

1. It is the complete count of all Indian establishments located within and outside the territory of India.
2. It is conducted by the Ministry of Commerce and Industry.
3. It will cover establishments in the nonfarm sector including household enterprises.

Which of the statements given above is/are Correct?
srzd @t anfles seeen 2019 o Jew #, bafaRaa oeml uz an o

1. 26 Ma o g @ iae 3iie arse Rrere wht sl gfereoralt &1 guf soren
2. ug arfdrs iz Jeier ddgrer @ sianfera Rsan siman 8

3. us a¥qg JeE! wfda 9z @ity gig @ gfereorell @t Famfda wen

Hu3 fRu s1e werell A A wiel w1 wdl &

[Question ID = 6966]
1. 1 only / dvaer 1

[Option ID = 27858]
2. land 2 only / 1 dfiz 2 &

[Option ID = 27859]
3. 3only / oaer 3

[Option ID = 27860]
4, 1 and 3 only / asae 1 3fiz 3

[Option ID = 27861]

Correct Answer :-
e 3only / a¥er 3

[Option ID = 27860]

41) Recently, DRDO has conducted successful tests of ‘Abhyas’ which a/an:

aret & Ji, 3. amz. A 3. o v "D Jwe afler fBee | &l v

[Question ID = 6967]

1. Nuclear powered submarine of Scorpense class / s@iifer e &t ueamy FanfenT uargedt [Option 1D = 27862]
2. High-speed autonomous flight drone / 3ea =it et 35 siar [Option 1D = 27863]

3. Light weight combat chopper / &= aamr 75 virer affrwices [Option 1D = 27864]

4. Intercontinental ballistic missile / aicreaadidr dfefica fiamsa [Option ID = 27865]

Correct Answer :-
e High-speed autonomous flight drone / 3ca aifét arer 3511 star [Option ID = 27863]

42) The beginning of the parliamentary System in India can be traced back to which of the following Acts?

R aiferforra @ warraseu wizd 3 Jadta gummell @1 9[Faird a1 Uddl &PmRn S Jasdn &

[Question ID = 6968]

1. Charter Act of 1853 / 1853 @ ands aiféiformr [Option ID = 27866]

2. Government of India Act, 1858 / wa s affferm, 1858 [Option 1D = 27867]
3. Government of India Act, 1919 / wea oo affferm, 1919 [Option 1D = 27868]
4, Government of India Act, 1935 / wea s aféferm, 1935 [Option 1D = 27869]

Correct Answer ;-
o Charter Act of 1853 / 1853 an ards aftifsrrr [Option 1D = 27866]
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43) Which among the following recently became the first nation to declare climate emergency?

forgaifeifiaa 3 A wiar sra & A srerary snmuraasta Mt asvoel aren usdl e doll?
[Question ID = 6969]

1. Sweden / Fdisa [Option 1D = 27870]

2. Ireland / smereeds [Option ID = 27871]

3. United Kingdom / =enses frersa [Option 1D = 27872

4, Germany / swislt [Option ID = 27873]

Correct Answer :-
e United Kingdom / znses Rrersa [Option 1D = 27872]

44) Whom among the following started the newspaper ‘Shome Prakash’?

foratfcii3ae 3f 31 Kool oner geo191 ' Irdarz 9% fven?

[Question ID = 6970]

1. Dayanand Saraswati / cemeic sl

[Option ID = 27874]
2. Ishwar Chandra Vidyasagar / dwaz dg Rensnsn

[Option ID = 27875]
3. Raja Ram Mohan Roy / Jram 7w JilEa IR=1

[Option ID = 27876]
4. Surendra Nath Banerjee / 3j3g oier gorsif

[Option ID = 27877]

Correct Answer :-
® |shwar Chandra Vidyasagar / &7 dg REmamr

[Option ID = 27875]

45) In collaboration with David Hare and Alexander Duff, who of the following established Hindu College at Calcutta?

3fas & i adasis: sw @ FeAlel A, lwefcif¥aa d A Rovaol aseravan # g @Siast &1 Feamuen @17

[Question ID = 6971]

Henry Louis Vivian Derozio / Zordt oz fifeera [hafsen [Option 1D = 27878]
Ishwar Chandra Vidyasagar / 'z dg ffememsre [Option 1D = 27879]
Keshab Chandra Sen / dbsra @rg 3t [Option 1D = 27880]

Raja Ram Mohan Roy / mu am et 2r1 [Option ID = 27881]

o ld R =

Correct Answer :-
e Raja Ram Mohan Roy / aranm a1 aitgar 211 [Option 1D = 27881]

46) For the Karachi session of INC in 1931 presided over by Sardar Patel, who drafted the resolution on fundamental right
and economic program?

1931 3 @ioja @ @l sl @ 1o seer ued o reasr &, Rowel Aifers aftrer iz anfRles orlan o1 #iar d=r [Rew?
[Question ID = 6972]

1. Mahatma Gandhi / sswan aneht [Option 1D = 27882

2. Pandit Jawaharlal Nehru / df#a srassene dg= [Option 1D = 27883]

3. Dr. Rajendra Prasad / 3mig gz [Option ID = 27884]

4. Dr. B. R. Ambedkar / 2i, . anz apdsass [Option ID = 27885]

Correct Answer :-

e Pandit Jawaharlal Nehru / dfZs srrazere dig= [Option |D = 27883]

47) Mahatma Gandhi said that some of his deepest convictions were reflected in book titled “ Unto this last” and the book
transformed in his life. What was the message from the book that transformed Mahatma Gandhi?

Harea anieh o1 asar s Jerdbl ase s1ed anzen sere & dive graa 3 uf¥afdi 8l 2 sifiv 331 graw of gard sftaar @ agar Ran s gra a1
AT G 9T Joldd oiidel # el ol

[Question ID = 6973]
1. a.Uplifting the oppressed and poor is the moral responsibility of an educated man / vad-ga Jfiz silal am1 Fremer aszan vas [9ifdm cfes &l dfde Grdest 8

[Option ID = 27886]
2. b.The good of individual is contained in the good of all / dlefy & sens it o Za 7 Gida &

[Option ID = 27887]

3. c.The life of celibacy and spiritual pursuit are essential for a noble life / =it gemaef aftz aneenfeaes 389 @1 Slas 3o Sltaer & fene v 8

[Option ID = 27888]
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4, All the statements, a, b and ¢ correct / 2usft averat, ©, dt i ofF ad &
[Option ID = 27889]

Correct Answer :-

e b.The good of individual is contained in the good of all / di=fr o5t send bt o & 7 Biga &
[Option ID = 27887

48) Mahatma Gandhi undertook fast unto death in 1932, mainly because

arsrean aniell ot 1932 31 siwzvr aro19161 fopan, SIaT HF DIl AT

[Question ID = 6974]
1. Round Table conference failed to satisfy Indians political aspirations / z13=s 2o swce sk & IeEiits smeisnst o g1 oo 7 Poea 2

[Option ID = 27890]
2. Congress and Muslim league had difference of opinion / @Sy afiz gf¥cm cfter o dla #odie an

[Option ID = 27891]
3. Ramsay Macdonald announced the communal award / 2@ FwsTancs 8 AysiRis ypee & o @

[Option 1D = 27892]
4, None of these / ol 31 o oft ot

[Option ID = 27893]

Correct Answer ;-

& Ramsay Macdonald announced the communal award / 2133 Fipstanes of aiyaifics ypran & g 6
[Option ID = 27892]

49) In Which period functional Literacy for Adult women was introduced in India.

NI 3 eI Afecndl & fee Rew smafin 3 orilcae agzar & opFana & o1 off

[Question ID = 6975]
1. 1975-1976

[Option ID = 27894]
2. 1980-1981

[Option ID = 27895]
3. 1985-1986

[Option ID = 27896]
4, None of these / ol 31 o oft ot

[Option ID = 27897
Correct Answer :-
e 1975-1976

[Option ID = 27894]

50) Dr. Frank laubach submitted which proposal to the Government of India in19507?

31. W dfam of MR IR DI wiat A1 Yara 1950 3 Jemr=n?

[Question ID = 6976]
1. All India family planning campaign / sif3aer sielier uf¥ars Brivss afders

[Option ID = 27898]
2. All India Literacy campaign / sif3aer sz snemon sffemsr

[Option ID = 27899]
3. All India Lifelong Learning campaign / af3rer soaefler ansias e aifdens

[Option ID = 27900]
4, None of these / sort 31 o ot ardf

[Option ID = 27901]
Correct Answer :-
e All India Literacy campaign / aif¥rer sirzefler sngmen aifdens

[Option ID = 27899]

collegedunia:

India’s largest Student Review Platform




